
REF. ARTICLE CODE DESCRIPTION PRICE

COMPONENTS - DRAWING NO. 1

2A 126 REAR TORSION BAR $30.64

3A 127 ALUM. CLAMP 28mm $14.79

3A 127.0003 ALUM. CLAMP 30mm $14.79

4A 128.0021 FRONT DISM. STABILIZER, CHROMED FOR JUNIOR $42.86

4A 128.0034 FRONT DISM. STABILIZER-STRAIGHT, BLACK  KF-KZ (length to be specified) $42.86

4A 128.0032 FRONT DISM. STABILIZER - HOMOLOGATION  CH 11-CH14 BLACK $61.29

5A 11.0005 ALUM. FLOOR TRAY FOR BABY-KART, BLACK $149.57

5A 11.001 ALUM. FLOOR TRAY FOR JUNIOR, BLACK $149.57

5A 11.0025 ALUM. FLOOR TRAY FOR MINI-KART 950MM, BLACK $149.57

5A 11.0089 BLACK ANOD. FLOOR TRAY FOR MONTECARLO  CHASSIS $149.57

5A 11.0031 BLACK ANOD. ALU. FLOOR TRAY - HOMOL. CH 08 - 67x27cm $149.57

5A 11.0043 BLACK ALU. FLOOR TRAY - HOMOL. CH08 - 67x25cm $149.57

5A 11.0032 BLACK ANOD. ALU. FLOOR TRAY - HOMOL. CH 11 - 70X27cm $149.57

5A 11.0032 CARBON-FIBER  FLOOR TRAY - HOMOL. CH11 - 70X27cm $473.14

5A 11.0035 BLACK ANOD. ALU. FLOOR TRAY - HOMOL. CH 14 - 70X25cm $149.57

5A 11.0035 CARBON-FIBER  FLOOR TRAY - HOMOL. CH14 - 70X25cm $473.14

5A 11.0093 BLACK ANOD. SMALL FLOOR TRAY FOR EXTRA-LONG KART $61.29

6A 11.0095 RUBBER WASHER FOR FLOOR TRAY $0.43

11.01 NUTS AND BOLTS KIT FOR FLOOR TRAY $15.86

017.0030.0 BRAKE FORK PLATE $4.71

7A 17.0025 BRAKE PEDAL BABY-KART/MINI-KART $55.29

7A 17.003 BRAKE PEDAL STANDARD KF-KZ $55.29

7A 17.005 ALUMINIUM BRAKE PEDAL KF-KZ $110.79

8A 18.002 ACCELERATOR  PEDAL, BABY-KART/MINI-KART $45.21

8A 18.003 ACCELERATOR  PEDAL, STANDARD KF-KZ $45.21

7A 18.005 ALUMINIUM ACCELERATOR  PEDAL KF-KZ $110.79

18.006 ALUMINIUM PEDAL KIT  KF-KZ $271.29

9A 21.0011 PEDAL PRISONER, STANDARD, drilled $7.50

21.0015 ALU. SPACER 8X14X13 FOR PEDAL PRISONER $8.14

10A 21.003 SAFETY PIN $0.43

11A 23.001 SPRING FOR BRAKE/ACCELERATOR PEDAL $3.21

23.003 FEET SUPPORT FOR ALUMINIUM PEDAL $20.36

23.004 HALF BUSH FOR ALU. PEDAL SUPPORT $4.93

23.005 SUPPORT FOR PEDAL STOPPER BOLT $4.07

24.0015 ALUMINIUM FEET SUPPORT, ADJUSTABLE $94.71

15A 25.001 CABLE ADJUSTER 6MM $1.29

16A 184.1501 2-HOLES SUPPORT FOR BRAKE CABLE ADJUSTER $12.00

24.0041 ADJUST. CLAMP FOR ALUMINIUM ACCELERATOR  PEDAL STOP $33.86

17A 26.001 TRANSPARENT  SEAT FOR BABY-KART $105.43

17A 26.0021 TRANSPARENT  SEAT FOR MINI-KART $105.43

17A 026.0040.0 STANDARD SEAT SIZE XS - 27,5cm $107.14

17A 026.0040.1 STANDARD SEAT SIZE 1- 30 cm $107.14

17A 026.0040.2 STANDARD SEAT SIZE 2 - 31,5 cm $107.14

17A 026.0040.3 STANDARD SEAT SIZE 3 - 32,5 cm $107.14

17A 026.0040.4 STANDARD SEAT SIZE 4 - 34 cm $177.64

17A 026.0045.1 SILVER SEAT SIZE 1 - 30 cm $177.64

17A 026.0045.2 SILVER SEAT SIZE 2 - 31,5 cm $177.64

17A 026.0045.3 SILVER SEAT SIZE 3 - 32,5 cm $177.64

17A 026.0045.4 SILVER SEAT SIZE 4 - 34 cm $177.64

17A 26.005 CARBON-FIBER  TILLETT SEAT $716.36

18A 28.003 SOLID ALUM. SEAT WASHER, BLACK ANODIZED $3.43



REF. ARTICLE CODE PRICE

20A 30 $22.50

21A 30.0001 REM. SEAT SUPPORT COMPLETE - STRAIGHT       28mm $76.29

21A 30.0002 REM. SEAT SUPPORT COMPLETE - STRAIGHT       30mm $76.29

21A 30.0003 REM. SEAT SUPPORT COMPLETE - STRAIGHT       32mm $76.29

22A 30.001 ANOD. ALU. REMOV.  CLAMP         28mm $61.29

22A 30.002 ANOD. ALU. REMOV. CLAMP         30mm $61.29

22A 30.003 ANOD. ALU. REMOV. CLAMP         32mm $61.29

22A 30.0031 ANOD. ALU. REMOV. CLAMP, SHORT, THREADED, 32mm $63.43

22A 30.0032 ANOD. ALU. REMOV. CLAMP, SHORT, THREADED, 30mm $63.43

22A 30.0033 ANOD. ALU. REMOV. CLAMP, SHORT, THREADED, 30mm $63.43

23A 32.002 EXTRA SEAT SUPPORT - FLAT 28 CM $13.71

23A 32.0021 EXTRA SEAT SUPPORT - FLAT 35 CM $14.14

23A 32.0022 EXTRA SEAT SUPPORT - FLAT 40 CM $14.14

23A 32.0023 EXTRA SEAT SUPPORT - ROUND  30 CM $13.71

23A 32.0024 EXTRA SEAT SUPPORT - ROUND  35 CM $14.14

23A 32.0025 EXTRA SEAT SUPPORT - ROUND  39 CM $14.14

24A 32.01 ALU. PLATE FOR SEAT REINFORCING $6.43

COMPONENTS - DRAWING NO. 2

1 33.0005 ENGINE MOUNT, ALUMINIUM, DRILLED FOR BABY-KART $34.07

1 33.0021 ENGINE MOUNT, ALUMINIUM, 92X30 TAG-100cc DRILLED $71.57

1 33.0022 ENGINE MOUNT, MAGNESIUM, 92X30 TAG-100cc DRILLED $73.50

1 33.0023 ENGINE MOUNT, MAGNESIUM, 92X30 TAG-100cc $56.36

1 33.0031 ENGINE MOUNT, MAGNESIUM, 92X32 TAG-100cc $73.50

1 33.0042 ENGINE MOUNT, MAGNESIUM, 92X32 TAG-100cc DRILLED $91.93

1 33.0045 ENGINE MOUNT, MAGNES. KF  92X32 DRILLED, COMPL. WITH BRACKETS $183.86

2 34.0011 ENGINE MOUNT BRACKET, ALUM. 92X30 $27.64

2 34.0012 ENGINE MOUNT BRACKET, ALUM. 92X32 $27.64

2 34.0015 ENGINE MOUNT BRACKET, ALUM. 92X30 CUT SHORT $27.64

2 34.0016 ENGINE MOUNT BRACKET, ALUM. 92X32 CUT SHORT $27.64

34.003 UPPER ENGINE MOUNT BRACKET ROTAX DD2 $48.86

34.0031 UPPER ENGINE MOUNT BRACKET ROTAX DD2 SHORT $48.86

34.0038 UPPER DD2 ENGINE MOUNT BRACKET SPACER - 1mm $6.00

34.004 UPPER DD2 ENGINE MOUNT BRACKET SPACER - 6mm $12.86

3 36 FRONT BUMPER, MOD. BABY-KART $38.57

3 36.001 FRONT BUMPER, MOD. MINI-KART $52.50

3 36.0035 FRONT BUMPER JUNIOR $52.50

3 36.0025 FRONT BUMPER STANDARD  KF-KZ - HIGH $43.71

3 36.0027 FRONT BUMPER EXTRA-LONG   - HIGH $52.93

3/B 036.0B26 FRONT BUMPER STANDARD KF-KZ  - LOW $29.14

3/B 36.0028 FRONT BUMPER EXTRA-LONG - LOW $38.36

4 38.0008 SIDE BUMPER  BABY-KART   - LEFT  (WHEELBASE 800mm) $53.36

4 38.0014 SIDE BUMPER MINIKART - LEFT PANDA $57.43

4 38.0016 SIDE BUMPER MINIKART - LEFT MK14 $57.43

4 38.0045 SIDE BUMPER JUNIOR NORDIC, LEFT,  FOR EVO11 SIDE FAIRING $64.29

4 38.0043 EVO 11 SIDE BUMPER, LEFT, COMPLETE   (2 pcs.) $64.29

5 38.0009 SIDE BUMPER  BABY-KART     -  RIGHT    (WHEELBASE 800mm) $53.36

5 38.0015 SIDE BUMPER MINI-KART, RIGHT PANDA $57.43

5 38.0017 SIDE BUMPER MINI-KART, RIGHT MK14 $57.43

5 38.0044 SIDE BUMPER JUNIOR NORDIC, RIGHT,  FOR EVO11 SIDE FAIRING $64.29

5 38.0042 EVO 11 SIDE BUMPER,  RIGHT,  COMPLETE   (2 pcs.) $64.29

DESCRIPTION

DISMOUNTABLE  SEAT SUPPORT BRACKET - STRAIGHT



REF. ARTICLE CODE PRICE

7 39.0005 $119.57

7 39.001 REAR BUMPER JUNIOR $82.71

7 39.0025 REAR BUMPER MINI-KART $110.36

7 39.0012 REAR BUMPER, STEEL, STANDARD KF-KZ $82.71

7 39.0019 REAR BUMPER, STEEL, KF-KZ   GB TYPE $137.79

7 39.0036 ADJUST. REAR PLAST. PROTECT. KG -  MINI-JUNIOR -  WITH FIXING KIT 28MM $259.71

7 39.0037 ADJUST. REAR PLAST. PROTECT. KG -  MINI-JUNIOR $144.86

7 39.005 REAR PLAST. PROTECTION CIK-KG - KF/KZ COMPL. WITH FIXING KIT 32MM $294.00

7 39.0055 REAR PLAST. PROTECTION CIK-KG - KF/KZ COMPL. WITH FIXING KIT 30MM $294.00

7 39.006 REAR PLASTIC PROTECTION CIK-KG,  BARE $135.64

39.0065 FIXING KIT FOR KG  REAR PLASTIC PROTECTION (brakets only) $129.43

39.0051 DD2 PLASTIC REAR SPOILER COMPLETE $258.43

10 61.001 RUBBER TUBE 23MM FOR REAR BUMPER $4.93

10 61.0011 RUBBER TUBE 25MM FOR REAR BUMPER $4.93

10 61.0012 RUBBER TUBE 27MM FOR REAR BUMPER $4.93

11 62.001 INTERNAL BUSHING, NYLON, FOR 28-30MM TUBE $3.00

11 62.0012 INTERNAL BUSHING, ALU. ANOD, FOR 30MM TUBE $6.43

11 62.0014 INTERNAL BUSHING, ALU. ANOD, FOR 32MM TUBE $6.21

12 63.001 EXTERNAL BUSHING, NYLON $2.57

12 63.0012 EXTERNAL BUSHING, ALUM. GOLD ANODIZED $5.79

63.002 COMPL. FIXING KIT RUBBERS/NUTS/BOLTS  FOR 28MM REAR BUMPER $30.00

63.003 COMPL. FIXING KIT RUBBERS/NUTS/BOLTS  FOR 30MM REAR BUMPER $36.43

63.004 COMPL. FIXING KIT RUBBERS/NUTS/BOLTS  FOR 30MM REAR BUMPER $36.21

15 65.001 PLASTIC NUMBER PLATE COL. YELLOW $9.21

16 65.0015 ADHESIVE NUMBER PLATE COL. YELLOW $2.57

17 249 ADHESIVE NUMBER (0-9) $1.29

$0.00

20 39.0021 BAR FOR REAR BUMPER  KF-KZ $18.86

20 39.0023 BAR FOR REAR BUMPER JUNIOR $18.86

21 40.0015 SUPPORT FOR UNICO-PANDA   FRONT SPOILER - SHORT $7.50

21 40.0017 SUPPORT FOR EVO11 FRONT SPOILER - SHORT $11.57

21 40.002 CIK SUPPORT FOR EVO11 FRONT SPOILER - SHORT $15.43

22 40.0011 SUPPORT FOR FRONT SPOILER - LONG $13.93

23 42.0025 FRONT SPOILER BABY-KART $34.07

23 42.0035 FRONT SPOILER PANDA FOR MINIKART $58.71

23 42.0037 MK14 FRONT SPOILER FOR MINIKART $54.00

23 42.0043 EVO11 FRONT SPOILER FOR KF-KZ $44.57

24 43.0011 FRONT FAIRING FOR BABY $58.93

24 43.0015 FRONT FAIRING mod. PANDA FOR MINI-KART $87.64

24 43.002 FRONT FAIRING mod. MK14 FOR MINI-KART $113.57

24 43.0033 FRONT FAIRING EVO11 $97.29

25 44.0019 SNAP HOOK FOR FIXING THE CIK FRONT FAIRING $26.57

26 44.002 PLASTIC BRACKET FOR FRONT CIK BUMPER $5.36

26 44.0022 ALU. BRACKET FOR FRONT BUMPER $18.21

44.0011 MOUNTING KIT FOR FRONT FAIRING $63.43

44.001 MOUNTING KIT FOR FRONT FAIRING, MOD.BABY-KART $62.57

30 46.0005 SIDE FAIRING RIGHT/LEFT. MOD. BABYKART $42.43

30 46.0015 SIDE FAIRING RIGHT/LEFT, MOD. PANDA MINI-KART 950mm $53.79

30 46.002 EVO11 SIDE FAIRING, RIGHT $76.71

30 46.0021 EVO11 SIDE FAIRING, LEFT $76.71

30 46.0038 EVO11 SIDE FAIRING, RIGHT $58.71

DESCRIPTION

REAR BUMPER FOR BABY-KART  (WHEELBASE 800mm)



REF. ARTICLE CODE PRICE

30 46.0039 $58.71

47.0012 COMPLETE SET OF FAIRINGS BABYKART $177.64

47.0034 COMPL. SET OF FAIRINGS PANDA-EVO,  MINI-KART $253.50

47.0036 COMPL. SET OF FAIRINGS MK14,  MINI-KART $320.79

47.0039 COMPLETE SET OF EVO11 PLASTICS $259.29

49.002 MOUNTING KIT FOR SIDE FAIRINGS PANDA $7.93

49.0022 MOUNTING KIT FOR SIDE FAIRING EVO11 $4.07

49.0031 PLASTIC CLAMPS FOR 20MM TUBE $1.29

516.0023 SET OF HAASE GRAPHICS FOR UNICO BODYWORK (WITHOUT FUEL TANK) $155.14

516.003 SET OF HAASE GRAPHICS (MOD. PANDA) FOR CADET CHASSIS $141.21

516.0035 SET OF HAASE GRAPHICS FOR JUNIOR NORDIC $224.14

516.0028 COMPLETE SET OF HAASE GRAPHICS FOR EVO11 BODYWORK $126.09

35 51.001 CHAIN GUARD, SHORT, STRAIGHT $4.93

35 51.004 CHAIN GUARD, CLOSED TYPE $48.43

35 51.0045 CHAIN GUARD, CLOSED TYPE, KG, COMPLETE $116.79

35 51.005 CHAIN GUARD, CLOSED TYPE, CARBON/KEVLAR LIGHT WEIGHT, COMPLETE $541.93

36 51.0041 SUPPORT FOR CLOSED TYPE CHAIN GUARD $12.86

36 52.002 CHAIN GUARD SUPPORT, SHORT, KZ $9.64

36 52.001 CHAIN GUARD SUPPORT, MEDIUM,  MINI-JUNIOR $9.21

36 52.003 CHAIN GUARD SUPPORT, LONG, KF-TAG $9.21

37 54.0011 SILENCER HOLDER, COMPLETE, $26.79

38 55.0011 SILENCER HOLDER, BARE,          100-125CC $17.57

39 56.001 LONG SPRING FOR SILENCER HOLDER $2.14

56.0011 SHORT SPRING FOR EXHAUST BEND $3.21

40 60.001 RUBBER WASHER, 10X14 $1.29

41 60.002 EXTRA PLATE  FOR SILENCER HOLDER $18.43

42 54.0013 ADJUST. SILENCER HOLDER SUPPORT BRACKET,  KF $15.43

43 54.0014 ALU. FIXING CLAMP FOR SILENCER HOLDER $27.43

54.002 CLAMP FIXING PLATE FOR ADJUST. SILENCER HOLDER $10.29

WHEELS

68.002 SET ALU. WHEELS  140-110mm WITH BEARINGS COMPLETE $265.29

68.0013 SET ALU. WHEELS  210-130mm 3-HOLES, COMPLETE $265.29

68.0045 SET OF ALU. WHEELS 180-130mm - 3 HOLES $265.29

68.0022 SET ITALIANMAG MAGNES. WHEELS  130-212  - 3 HOLES $651.86

68.0024 SET ITALIANMAG MAGNES. WHEELS  130-180  - 3 HOLES $651.86

68.0028 SET DOUGLAS MAGNES. WHEELS 130-212 -   3-HOLES $452.57

68.0029 SET DOUGLAS MAGNES. WHEELS  130-180 -  3-HOLES $452.57

50 69.001 REAR WHEEL, ALU. 140MM $69.43

50 69.0011 REAR WHEEL, ALU. 180MM $69.43

50 69.0012 REAR WHEEL, ALU. 210MM $69.43

50 69.003 MAGNESIUM DOUGLAS REAR WHEEL, 180MM $123.21

50 69.0031 MAGNESIUM DOUGLAS REAR WHEEL, 212MM $123.21

50 69.0036 MAGNESIUM DOUGLAS REAR WHEEL, 180MM $196.07

50 69.0037 MAGNESIUM DOUGLAS REAR WHEEL, 212MM $196.07

51 70.001 FRONT WHEEL, ALU. 110mm WITH BEARINGS COMPLETE $75.00

51 70.0014 FRONT WHEEL ALU. 120mm 3-HOLES, COMPLETE $75.00

DESCRIPTION

EVO11 SIDE FAIRING, LEFT



REF. ARTICLE CODE PRICE

51 70.0015 $75.00

51 70.003 FRONT WHEEL ALU. 130mm WITH BEARINGS COMPLETE $75.00

51 70.0041 FRONT WHEEL ALU. 120mm WITH BEARINGS COMPLETE $75.00

51 70.002 ITALIANMAG MAGNES. FRONT WHEEL  130mm  - 3-HOLES $183.86

51 70.0022 MAGNES. DOUGLAS FRONT WHEEL 130mm -  3-HOLES $100.29

52 71.001 TUBLESS VALVE - SHORT $1.50

52 71.0011 TUBLESS VALVE - LONG $1.07

53 72.001 BEARING FOR FRONT WHEEL, 17mm C4 $2.57

54 72.002 SAFETY SCREWS  FOR DRILLED WHEEL $2.14

55 185.1112 O RING 5MM $0.43

STEERING GROUP

1 83.001 LEATHER STEERING WHEEL, ALU., COL.  BLACK 260mm $139.29

1 83.0123 LEATHER CORSA STEERING WHEEL, FLAT TOP, BLACK 320mm $210.64

2 85.0013 STEERING WHEEL BOSS, ALU. ANOD., STRAIGHT $33.00

2 85.0015 STEERING WHEEL BOSS, ALU. ANOD., INCLINED $62.14

2 85.002 STEERING WHEEL BOSS, ALU.  ANOD. KZ-125cc $78.86

3 86.003 STEERING COLUMN KF-KZ-DD2-JUNIOR $67.53

3 86.004 STEERING COLUMN DD2, KNURLED FOR STEERING WHEEL BOSS $76.29

3 86.0021 STEERING COLUMN MINI-KART $67.53

3 86.0025 STEERING COLUMN BABY-KART $67.53

4 220.0115 STEERING COLUMN LOCKING BUSH, 125CC $3.43

5 220.0116 SECURITY DOWEL SCREW FOR LOCKING BUSH $0.28

6 90 NYLON SUPPORT FOR STEERING COLUMN $10.71

7 95 STEERING COLUMN BEARING $12.00

8 96 SEEGER FOR STEER. COLUMN BEARING $0.43

9 96.001 ALU. STEERING COLUMN BUSH $5.79

10 97 STEERING TIE-ROD, ALUM, BLACK ANODIZED L=270 $22.74

10 97.0002 STEERING TIE-ROD, CARBON-FIBER   L=270mm $145.90

10 97.0021 CONICAL REINFORCED  STEER. TIE-ROD, BLACK - RACING TYPE L=260 $22.32

10 97.0015 STEERING TIE-ROD ALU. BLACK ANODIZED L= 240 $22.74

10 97.0019 STEERING TIE-ROD ALU. BLACK ANODIZED L= 210 $22.74

10 97.002 STEERING TIE-ROD ALU. BLACK ANODIZED L= 220 $22.74

11 100 UNIBALL, LEFT $14.14

12 100.001 UNIBALL, RIGHT $14.14

13 101.001 NUT M8 $0.13

14 101.0011 NUT M8 LEFT $0.49

15 102 SPECIAL SPACER FOR UNIBALL 13X8X2mm $0.21

16 102.0005 SPECIAL SPACER FOR UNIBALL 13X8X3,75mm $1.07

17 104.002 STUB AXLE LEFT 60-100cc 10.5° - SHORT - bearings 8mm $104.14

17 104.0034 STUB AXLE LEFT 60-100cc 10.5° -17mm- SHORT, REINFORCED  - bearings 8mm $113.14

17 104.0036 STUB AXLE LEFT KF-100cc 10.5° -17mm- LONG - bearings 8mm $128.20

17 104.0018 STUB AXLE LEFT KF-TAG 25mm FR011 10,5° - bearings 8mm $143.20

17 104.004 STUB AXLE LEFT KF-TAG  10.5° - Ø 25mm FR11 -bearings 10mm $151.71

17 104.005 STUB AXLE LEFT KF-TAG  10.5° - Ø 25mm FR11 ADJUSTABLE -bearings 10mm $151.71

17 104.0044 STUB AXLE LEFT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 8mm $176.14

17 104.0046 STUB AXLE LEFT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 10mm $174.43

18 104.0021 STUB AXLE RIGHT 60cc-TAG  10.5° -17mm - SHORT -  bearings 8mm $104.14

18 104.0035 STUB AXLE RIGHT 60-100cc 10.5° - 17mm  SHORT,REINFORCED bearings 8mm $113.14

18 104.0037 STUB AXLE RIGHT KF-TAG 10.5° - 17mm LONG - bearings 8mm $129.21

18 104.0019 STUB AXLE RIGHT KF-TAG 25mm FR011 10,5° - bearings 8mm $153.43

18 104.0041 STUB AXLE RIGHT KF-TAG  10.5° - Ø 25mm FR11 -bearings 10mm $151.71

18 104.0051 STUB AXLE RIGHT KF-TAG  10.5° - Ø 25mm FR11 ADJUSTABLE -bearings 10mm $151.71

18 104.0045 STUB AXLE RIGHT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 8mm $176.14

DESCRIPTION

FRONT WHEEL ALU. 130mm 3-HOLES COMPLETE



REF. ARTICLE CODE PRICE

18 104.0047 $174.43

104.01 PARALLEL INSERT FOR ADJUSTABLE SPINDLE FR14 - HOLE 16mm $21.43

104.0105 PARALLEL INSERT FOR ADJUSTABLE SPINDLE FR14 - HOLE 14mm $21.43

STUB AXLE GROUP

1 108.003 COMPLETE CASTER CAMBER BUSHING KIT -  8mm screw - Ø  20mm $103.50

2 108.01 COMPLETE CASTER CAMBER BUSHING KIT -  8mm screw - Ø  22mm $182.14

2 108.011 COMPLETE CASTER CAMBER BUSHING KIT - 10mm screw - Ø  22mm $186.21

3 108.0021 FIXING SEEGER 20MM FOR STUB AXLE BUSH $0.24

3 108.0145 FIXING SEEGER 22MM FOR STUB AXLE BUSH $0.24

4 108 NORMAL BUSH 12MM FOR MINI-BABYKART  STUB AXLE $2.57

4 108.0012 ECCENTRIC BUSH 12MM FOR MINI/BABYKART  STUB AXLE, 12 POSITIONS $18.55

4 108.0018 BARE BUSH 20MM - 8MM SCREW - 8 POSITIONS $14.36

4 108.0022 ECCENTRIC BUSH 20MM - 8MM SCREW - 8 POSITIONS $24.64

4 108.015 ECCENTRIC BUSH 22MM - 8MM SCREW - 16 POSITIONS $35.36

4 108.0155 NORMAL BUSH 22MM - 10MM SCREW - 16 POSITIONS $35.57

4 108.016 ECCENTRIC BUSH 22MM - 10MM SCREW - 16 POSITIONS $35.57

5 106 HEXAGONAL-HEAD SCREW TE 8X85 FOR STUB AXLE $3.21

5 106.002 TCE SCREW 10X85  FOR STUB AXLE $12.43

6 106.003 STUB AXLE SPACER - SCREW 8MM  H=4,5MM $2.36

6 106.0035 STUB AXLE SPACER - SCREW 10MM  H=4,5MM $2.57

7 102.0005 SPECIAL SPACER FOR UNIBALL 13X8X3,75mm $1.07

8 109 STUB AXLE BEARING 8x22mm $1.50

8 109.001 STUB AXLE BEARING 8x26mm FOR FR14 STUB AXLE $2.36

8 109.002 STUB AXLE BEARING 10x26mm FOR FR14 STUB AXLE $1.93

9 110 BEARING SPACER FOR 2 BEARINGS 17mm STUB AXLE  8X22mm $1.07

9 110.0001 BEARING SPACER FOR 4 BEARINGS 17mm STUB AXLE 8x22mm $1.71

9 110.001 BEARING SPACER FOR FR14 4 BEARINGS 25mm STUB AXLE 8x26mm $1.71

9 110.002 BEARING SPACER FOR FR14 4 BEARINGS 25mm STUB AXLE 10x26mm $1.71

10 112.0012 STUB AXLE SPACER, ALU. BLACK ANOD. 10MM (for stub axle 17mm) $3.43

10 112.0016 STUB AXLE SPACER, ALU. BLACK ANOD. 10MM (for stub axle 25mm) $3.86

11 112.0013 STUB AXLE SPACER, ALU. BLACK  ANOD. 5MM (for stub axle 17mm) $3.21

11 112.0017 STUB AXLE SPACER, ALU. BLACK  ANOD. 5MM (for stub axle 25mm) $3.00

12 113 SELF-LOCKING  NUT M14X1,5 - LOW $0.99

12 113.0002 RING NUT M25X1,5 FOR ADJUSTABLE SPINDLES 25mm $10.93

13 113.001 SPACERS WASHER LOCK (for stub axle 25mm) $5.57

113.0005 SOCKET WRENCH FOR SPINDLE RING NUT $46.07

14 114.004 FRONT WHEEL BOSS, KF-100cc MAGNES. L=70mm FOR STUB AXLE 17mm $69.21

14 114.0042 FRONT WHEEL BOSS, KF-100cc MAGNES. L=95mm FOR STUB AXLE 25mm $111.43

14 114.005 FRONT WH/BOSS KF-KZ MAGN. L=95X25mm for front brakes FR11-FR14 $138.21

15 114.01 BEARING SPACER FOR FRONT WHEEL BOSS 95X25mm FR11-FR14 $5.57

16 72.001 BEARING 17X35mm C4 $2.57

16 72.0011 BEARING 25X37mm C4 $4.29

17 115.0005 STUD-BOLT FOR WHEEL BOSS $0.64

18 115.0002 TE WHEEL NUT $0.43

REAR AXLE GROUP

1 114.0014 REAR WHEEL BOSS,  ALU. BLACK  ANOD. 25X60mm $60.64

DESCRIPTION

STUB AXLE RIGHT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 10mm



REF. ARTICLE CODE PRICE

1 114.0012 $60.64

1 114.0028 REAR WHEEL BOSS,  ALU. BLACK ANOD. 40X75mm $76.07

1 114.0017 REAR WHEEL BOSS, MAGNESIUM 40x95mm $116.36

1 114.0055 REAR WHEEL BOXX, MAGNESIUM 50X75mm $126.64

1 114.006 REAR WHEEL BOSS, MAGNESIUM 50x95mm $126.64

114.0029 REMOV. NYLON CENTERING RING FOR SHORT WHEEL BOSS $12.00

3 115.0002 TE WHEEL NUT $0.43

4 115.0005 STUD-BOLT FOR WHEEL BOSS $0.64

5 116.001 KEY 7X8X60 $2.36

5 116.0011 KEY 7X8X40  (for 25mm axle) $1.93

5 116.0008 KEY 6X8X60 $3.86

5 116.0012 KEY 5X8X60 $1.93

5 116.0013 PEG KEY, 2 pegs $6.86

5 116.0018 PEG KEY, 3 pegs $8.14

6 118.0005 AXLE 25MM, SOLID FOR BABY-KART 89 cm. $104.79

6 118.001 AXLE 25MM, SOLID FOR MINIKART 96 cm. $104.79

6 118.0018 AXLE 30MM, TUBE  FOR BABYKART-JUNIOR NORDIC 89 cm. $188.36

6 118 AXLE 30MM, TUBE FOR JUNIOR-MINIKART, TYPE "N" 96 cm. $188.36

6 118.0001 AXLE 30MM, TUBE FOR JUNIOR-MINIKART, TYPE "S" 96 cm. $188.36

6 118.003 AXLE 40MM, TUBE KF-TAG,  STANDARD, BLACK 100 cm. $194.79

6 118.0032 AXLE 40MM, TUBE, KF-TAG, "C" TYPE, BLACK 100 cm. $226.93

6 118.0075 AXLE 40MM, TUBE, KF-TAG, "F" TYPE, BLACK  100 cm. $194.79

6 118.004 AXLE 40MM, TUBE, KF-TAG,  STANDARD, BLACK 104 cm. $194.79

6 118.0041 AXLE 40MM, TUBE, KF-TAG,  "C" TYPE, BLACK 104 cm. $226.93

6 118.0081 AXLE 40MM, TUBE, KF-TAG,  "F" TYPE, BLACK 104 cm. $194.79

6 118.007 AXLE 40MM, TUBE KZ-125CC,   STANDARD, BLACK 104 cm $194.79

6 118.0071 AXLE 40MM, TUBE KZ-125CC,  "C" TYPE, BLACK  104 cm. $226.93

6 118.0072 AXLE 40MM, TUBE KZ-125CC,  "F" TYPE, BLACK  104 cm. $226.93

6 118.5 AXLE 50MM, TUBE KF-TAG,  STANDARD, BLACK 100 cm. $185.57

6 118.506 AXLE 50MM, TUBE KF-TAG,  "C" TYPE, BLACK  100 cm. $217.71

6 118.503 AXLE 50MM, TUBE KF-TAG,  "F" TYPE, BLACK   100 cm. $217.71

6 118.5031 AXLE 50MM, TUBE KF-TAG,  "S" TYPE, BLACK    100 cm. $263.57

6 118.501 AXLE 50MM, TUBE KF-TAG,   STANDARD, BLACK 104 cm. $185.57

6 118.5055 AXLE 50MM, TUBE KF-TAG,  "C" TYPE, BLACK  104 cm. $217.71

6 118.504 AXLE 50MM, TUBE KF-TAG,  "F" TYPE, BLACK 104 cm. $217.71

6 118.5021 AXLE 50MM, TUBE KF-TAG,  "S" TYPE, BLACK 104 cm. $263.57

6 118.5022 AXLE 50MM, TUBE KF-TAG,  "R" TYPE, BLACK 104 cm. $185.57

6 118.502 AXLE 50MM, TUBE KZ-125CC,  STANDARD, BLACK 104 cm. $231.43

6 118.505 AXLE 50MM, TUBE KZ-125CC,  "C" TYPE, BLACK 104 cm. $263.57

6 118.5041 AXLE 50MM, TUBE KZ-125CC,  "F" TYPE, BLACK 104 cm. $263.57

6 118.5042 AXLE 50MM, TUBE KZ-125CC,  "R" TYPE, BLACK 104 cm. $231.43

7 119.001 DOWEL SCREW FOR BEARING 30MM $0.64

7 119.0011 DOWEL SCREW FOR BEARING 40-50MM $0.64

8 123.001 AXLE BEARING 25X50mm $21.86

8 123.0011 AXLE BEARING 30X60mm $21.86

8 123.0013 AXLE BEARING 40x80mm $22.29

8 123.0015 AXLE BEARING 40x80mm SKF CONCENTRA $275.57

8 123.005 AXLE BEARING 50x90mm $27.21

8 123.0055 AXLE BEARING 50X80mm C4 $26.36

8 123.006 AXLE BEARING 50x80mm SKF CONCENTRA $321.43

DESCRIPTION

REAR WHEEL BOSS,  ALU. BLACK  ANOD. 30x65mm



REF. ARTICLE CODE PRICE

9 124.0003 MAGN. BEARING BUSH FOR AXLE BEARING 40X80MM 5-HOLES $175.50

9 124.0005 ALU. BEARING BUSH FOR AXLE BEARING 40X80MM 5-HOLES  BLACK $144.43

9 124.0004 ALU. BEARING BUSH FOR AXLE BEARING 30X60MM 4-HOLES  GOLD $144.43

9 124.001 ALU. BEARING BUSH  FOR AXLE BEARING 40X80MM 3-HOLES GOLD $36.43

9 124.002 ALU. BEARING BUSH  FOR AXLE BEARING 30X60MM 3-HOLES GOLD $30.64

9 124.0068 BEARING BUSH BABY 25X50MM AXLE 4-HOLES - WITH CALIPER SUPP. $69.86

9 124.007 BEARING BUSH BABY 25X50MM AXLE 4-HOLES - WITH CALIPER SUPP. $69.86

9 124.0073 BEARING BUSH 25X50MM AXLE 4-HOLES - BABY $69.86

9 124.0076 BEARING BUSH 30X60MM AXLE 4-HOLES - BABY $69.86

10 120.0005 REAR BRAKE DISK, NORMAL 150MM - FR08 - BABYKART $47.79

10 201.001 REAR BRAKE DISK, NORMAL 150MM - RUNNER MICRO - BABYKART $96.86

10 120.0007 REAR BRAKE DISK, 160mm, FLOATING RUNNER CADET COMPLETE $111.21

10 201.D110 REAR BRAKE DISK, 160mm, SELF-VENTILATED, RUNNER CADET $198.21

10 120.001 BRAKE DISK, NORMAL FR08 208mm $85.50

10 120.0011 BRAKE DISK, SELF-VENTILATED, RUNNER FR08 208mm $202.07

10 120.003 REAR BRAKE DISK, SELF-VENTILATED FR14, FLOATING, 190mm $231.43

11 120.102 REAR BRAKE DISK FR14 40MM WITH DISK HUB, FLANGE AND BUSHES, MOUNTED $387.43

11 120.103 REAR BRAKE DISK FR14 50MM WITH DISK HUB, FLANGE AND BUSHES, MOUNTED $387.43

12 121.0007 BRAKE DISK SUPPORT,  30MM MINI-JUNIOR, FR14 160mm DISK $91.93

12 121.0009 BRAKE DISK SUPPORT,  40MM MINI-JUNIOR, FR14 160mm DISK $91.93

12 121.0011 BRAKE DISK SUPPORT, ALUMINIUM 30MM BLACK, FR08 $77.14

12 121.0013 BRAKE DISK SUPPORT, MAGNESIUM 40MM, FR08 $112.50

12 121.015 BRAKE DISK SUPPORT, MAGNESIUM 50MM, FR08 $112.50

12 121.017 BRAKE DISK SUPPORT, MAGNESIUM 40MM, FR14 FLOATING DISK 190mm $166.71

12 121.018 BRAKE DISK SUPPORT, MAGNESIUM 50MM, FR14 FLOATING DISK 190mm $166.71

12B 121.019 FLANGE FOR BRAKE DISK SUPPORT RUNNER FR14 $62.57

13 122 COMPL. 6 BUSHING KIT FOR RUNNER FR14 SELF-VENTILATED REAR DISK $28.93

13 122.0002 COMPL. 3 BUSHING KIT FOR RUNNER FR14 NORMAL REAR DISK $23.36

14 122.001 BUSH FOR REAR SELF-VENTIL.  FLOATING BRAKE DISK FR14 $3.86

14 122.0012 BUSH FOR REAR NORMAL FLOATING BRAKE DISK FR14 $3.86

15 122.002 BUSH  STOP RING 10MM FOR FLOATING BRAKE DISK $1.29

16 122.003 SAFETY PIN FOR FLOATING DISK BUSH $1.29

17 122.004 10MM PUSH WASHER FOR FLOATING DISK BUSH $0.64

18 125.001 SPROCKET CARRIER, ALUM. 25MM  ANODIZED $91.93

18 125.0011 SPROCKET CARRIER, ALUM. 30MM  ANODIZED $91.93

18 125.0013 SPROCKET CARRIER, MAGNESIUM 40MM $112.50

18 125.005 SPROCKET CARRIER, MAGNESIUM 50MM $112.50

FUEL TANK

1 73.001 FUEL TANK  3LT. $27.64

1 73.0015 FUEL TANK  5 LT. REMOVABLE $55.29

1 73.0039 FUEL TANK  8 LT. REMOVABLE $60.64

2 73.0011 FUEL TANK  3 LT. COMPLETE $45.64

2 73.0016 FUEL TANK  5 LT. REMOVABLE    -  COMPLETE $60.00

2 73.0041 FUEL TANK  8 LT. REMOVABLE    -  COMPLETE $84.43

3 73.0044 FIXING KNOB FOR FUEL TANK $2.57

4 75.001 PLASTIC FUEL TANK CAP $2.14

4 75.0015 PLASTIC CAP FOR  REMOVABLE FUEL TANK $6.21

DESCRIPTION



REF. ARTICLE CODE PRICE

75.0016 $2.14

5 75.002 SMALL FIXING CAP FOR REMOV. FUEL TANK $1.93

77.001 NUT FOR FITTING $1.50

6 79.002 FITTING FOR REMOVABLE TANK $11.57

79.0011 DOUBLE FITTING KZ $14.36

7 79.0021 DOUBLE FITTING FOR REMOVABLE TANK $11.57

8 242.002 FUEL PIPE FREE LINE per mt. $7.50

9 82.001 FUEL SUCTION BRASS RESEARCH $12.00

10 79.003 O-RING  FOR REMOV. TANK FITTING $1.07

11 251.001 FUEL/OIL RECOVERY TANK WITH CAP $7.50

COMPLETE RUNNER BRAKING SYSTEMS

140.0001 RUNNER CADET SMALL SINGLE-PUMP  BRAKE SYST., BABYKART, 30MM AXLE, COMPL. $610.71

140.0006 RUNNER CADET FR14 BRAKE SYSTEM, MINI-JUNIOR, 30MM AXLE, COMPLETE $1,071.43

140.0007 RUNNER CADET FR14 BRAKE SYSTEM, MINI-JUNIOR, 40MM AXLE, COMPLETE $1,071.43

140.001 RUNNER FR08 REAR BRAKE SYSTEM, KF-TAG, 50MM, COMPLETE $889.29

140.003 RUNNER FR14 REAR BRAKE SYSTEM, KF-TAG, 50MM, COMPLETE $1,189.29

140.0031 RUNNER FR14 REAR BRAKE SYSTEM, KF-TAG, 40MM, COMPLETE $1,189.29

140.004 RUNNER FR11 FRONT BRAKE SYSTEM, KF-TAG, COMPLETE bearings 10mm $2,140.71

140.0045 RUNNER FRONT BRAKE SYSTEM FR11, FOOT OPERATED, COMPLETE 10mm $1,446.43

140.005 RUNNER FR14 BRAKE SYSTEM, KZ-125cc, 50mm COMPL. bearings 10mm $2,892.86

140.0051 RUNNER FR14 BRAKE SYSTEM, KZ-125cc, 40mm COMPL. bearings 10mm $2,892.86

KART.0009 ADDITIONAL CHARGE KF-TAG CHASSIS WITH FRONT HAND BRAKE SYSTEM FR11 $1,692.86

KART.0010 EXTRA CHARGE FOR CHASSIS WITH FRONT BRAKES FR11, FOOT OPERATED $1,285.71

KART.0011 ADDITIONAL CHARGE KF-TAG CHASSIS WITH FRONT FOOT OPERAT. BRAKES FR14 $1,071.43

KART.0017 EXTRA CHARGE TO UPGRADE FROM RUNNER KF FR08 TO RUNNER KF FR14 $310.71

BRAKE LINE

181.0125 COMPL. KIT RUNNER COVER. BRAKE TUBE KF-TAG FR08 $124.71

181.0126 COMPL. KIT RUNNER COVER. BRAKE TUBE KZ-125CC FR08 $288.00

143.01 REAR STEEL BRAKE LINE L=680mm RUNNER-CADET  SINGLE-PUMP   (baby-mini-junior) $49.71

181.0153 REAR STEEL BRAKE LINE L=740mm RUNNER-CADET  DOUBLE-PUMP  SYSTEM (mini) $55.29

181.0152 REAR STEEL BRAKE LINE L=800mm RUNNER-CADET  DOUBLE PUMP SYSTEM (junior) $55.29

181.0154 REAR STEEL BRAKE LINE RUNNER FR14 KF-KZ L=770mm $49.71

181.0151 REAR STEEL BRAKE LINE RUNNER FR14 KF-KZ L=800mm $49.71

181.015 FRONT STEEL BRAKE LINE RUNNER FR11 KF $122.14

181.0145 BRAIDED STEEL LINES FOR KZ FR14 FRONT CALIPER $119.36

COMPLETE SINGLE BRAKE PUMP FR14

1 143 COMPLETE SINGLE-PUMP  MASTER BRAKE CYLINDER 22MM FR14 $220.50

2 143.001 BRAKE LEVER PIN SINGLE-PUMP  FR14 $1.71

3 143.002 DOWEL 6X6 $1.07

4 143.003 RUBBER DUST COVER CAP FOR SINGLE-PUMP  FR14,  EXTERNAL $14.14

5 143.004 PISTON 19MM COMPLETE WITH PISTON SEALS $19.93

6 143.005 RETURN SPRING $4.50

7 143.006 BRAKE LEVER COMPLETE WITH PISTON PUSHER $26.36

8 143.007 TANK DIAPHRAGM FOR SINGLE BRAKE PUMP FR14 $12.43

9 143.008 TANK DIAPHRAGM SUPPORT $11.57

10 143.009 TANK COVER $27.43

DESCRIPTION

O-RING  FOR KF-KZ TANK CAP



REF. ARTICLE CODE PRICE

11 181.016 $3.00

12 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

13 183.917 LOCKING PLUG M10X1 $3.64

143.011 INTERMEDIATE  FIXING PLATE FOR SINGLE BRAKE PUMP FR14 $18.43

DOUBLE BRAKE PUMP UNIT KF-KZ FR08

1 181.001 RUNNER BRAKE PUMPS SYSTEM COMPLETE $249.21

2 181.2935 RUNNER COMPL. BRAKE PUMP, SINGLE, ANOD. $126.86

3 181.2929 RUNNER BARE BRAKE PUMP BODY $105.43

4 181.2945 ALU. SPACER FOR RUNNER BRAKE PUMP $29.57

5 146 NYLON BRAKE TUBE FITTING, STRAIGHT $2.36

5 146.001 COVERED BRAKE TUBE FITTING, STRAIGHT $1.50

6 183.0079 NYLON BRAKE TUBE FITTING, "L" SHAPE $2.79

6 183.008 FITTING FOR COVERED BRAKE TUBE "L" SHAPE $2.79

8 181.012 DUST COVER RUBBER CAP FOR RUNNER PUMP $3.86

9 181.2903 SOCKET HEAD SCREW TCE 6X60 $0.73

10 181.2904 SELF-LOCKING  NUT M6 - LOW $0.15

11 181.2905 FLAT WASHER 6MM $0.04

12 181.2906 SCREW PLUG  FOR PUMP BLEEDING $1.50

13 166 FIBER WASHER  10X14X1 $0.17

14 181.2908 FLAT WASHER 5MM $0.02

15 181.2909 MAIN PUMP RUBBER SEAL $2.36

181.2916 GASKET REPAIR KIT FOR RUNNER FR08 PUMPS $11.57

16 181.3 MAIN PISTON 13MM FOR RUNNER BRAKE PUMP FR08 $4.29

17 181.2912 SEEGER $0.86

18 181.2913 PUMP SPRING $2.14

19 181.1192 BRAKE PUMP ROD FOR RUNNER SINGLE PUMP - BABYKART $8.14

19 181.1193 BRAKE PUMP ROD FOR RUNNER SINGLE PUMP - MINIKART $8.14

19 182.119 BRAKE PUMP ROD FOR RUNNER DOUBLE PUMP 100-125CC $2.36

19 182.1189 BRAKE PUMP ROD FOR RUNNER DOUBLE BR/PUMP EXTRA LONG $16.07

20 168 NUT M6 $0.04

21 150 FORK - SHORT $3.86

21 150.001 FORK - LONG $4.71

22 151 SHORT FORK CLIP $2.14

22 151.001 LONG FORK CLIP $2.36

23 167 FORK COMPLETE, SHORT $6.00

23 167.0001 FORK COMPLETE, LONG $7.07

182.0119 COMPLETE BRAKING DISTRIBUTION  KF-TAG $39.64

182.012 COMPLETE BRAKING DISTRIBUTION  KZ-125cc $66.86

DOUBLE BRAKE PUMP UNIT KF-KZ FR14

1 181.4 RUNNER FR14 BRAKE PUMPS SYSTEM COMPLETE WITH RESERVOIR $426.86

2 181.401 RUNNER FR14 COMPL. BRAKE PUMP, SINGLE, WITH RESERVOIR $228.43

3 181.402 RUNNER FR14 BARE BRAKE PUMP BODY $120.64

4 181.403 ALU. SPACER FOR RUNNER FR14 BRAKE PUMP $39.64

5 181.012 DUST COVER RUBBER CAP FOR RUNNER PUMP $3.86

6 19.0093 SOCKET HEAD SCREW TCE 6X65 $0.81

7 184.1605 SELF-LOCKING  NUT M6 - LOW $0.09

8 181.2905 FLAT WASHER 6MM $0.04

9 181.2906 SCREW PLUG  FOR PUMP BLEEDING $1.50

10 166 FIBER WASHER  10X14X1 $0.17

11 181.404 HOLLOWED CAP TO FIX PUMP TANK $6.86

12 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

13 181.406 COMPLETE TANK FOR RUNNER FR14 PUMP $55.29

DESCRIPTION

SCREW M10X1 FOR BRAKE TUBE FR14 KF-KZ



REF. ARTICLE CODE PRICE

14 181.407 $13.50

15 181.408 BARE TANK $27.64

16 181.409 TANK CAP FOR BRAKE PUMP FR14 $22.07

17 181.2913 PUMP SPRING $2.14

18 19.0106 SOCKET HEAD SCREW TCE 4X6 $0.26

19 181.41 SPRING GUIDE BUSH $4.29

20 181.2909 MAIN PUMP RUBBER SEAL $2.36

21 181.411 MIAN PISTON 13MM FOR RUNNER FR14 BRAKE PUMP $18.43

22 181.412 SECONDARY PISTON BRAKE PUMP FR14 $3.00

23 181.2912 SEEGER $0.86

24 181.016 SCREW M10X1 FOR BRAKE TUBE FR14 KF-KZ $3.00

181.413 GASKET REPAIR KIT FOR FR14 DOUBLE PUMP $15.43

182.0119 COMPLETE BRAKING DISTRIBUTION  KF-TAG $39.64

182.012 COMPLETE BRAKING DISTRIBUTION  KZ-125cc $66.86

BRAKE PUMP UNIT RUNNER CADET

181.4002 COMPLETE RUNNER FR14 BRAKE PUMPS WITH INTEGRATED RESERVOIR $445.71

1 181.4012 SINGLE RUNNER FR14 BRAKE PUMP, COMPLETE, WITH INTEGRATED RESERVOIR $239.36

2 181.4013 SINGLE RUNNER FR14 BRAKE PUMP, BARE,  WITH INTEGRATED RESERVOIR $158.14

181.403 ALU. SPACER FOR RUNNER FR14 BRAKE PUMP $39.64

3 181.012 DUST COVER RUBBER CAP FOR RUNNER PUMP $3.86

19.0093 SOCKET HEAD SCREW TCE 6X65 $0.81

184.1605 SELF-LOCKING  NUT M6 - LOW $0.09

181.2905 FLAT WASHER 6MM $0.04

4 181.2906 SCREW PLUG  FOR PUMP BLEEDING $1.50

5 166 FIBER WASHER  10X14X1 $0.17

6 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

7 181.507 TANK CAP FOR BRAKE PUMP FR11 $20.36

8 181.508 TANK DIAPHRAGM FOR RUNNER FR11 PUMP $9.43

9 19.0012 SCREW TS 4X8 $0.19

10 181.2913 PUMP SPRING $2.14

11 19.0106 SOCKET HEAD SCREW TCE 4X6 $0.26

12 181.41 SPRING GUIDE BUSH $4.29

13 181.2909 MAIN PUMP RUBBER SEAL $2.36

14 181.411 MIAN PISTON 13MM FOR RUNNER FR14 BRAKE PUMP $18.43

15 181.412 SECONDARY PISTON BRAKE PUMP FR14 $3.00

16 181.2912 SEEGER $0.86

17 181.016 SCREW M10X1 FOR BRAKE TUBE FR14 KF-KZ $3.00

181.413 GASKET REPAIR KIT FOR FR14 DOUBLE PUMP $15.43

182.0125 COMPLETE BRAKING DISTRIBUTION  FOR BABY-MINI $61.71

RUNNER FRONT HAND BRAKE PUMP SYSTEM KF - FR11

1 181.5 HAND BRAKE PUMP FR11 COMPLETE $507.00

2 181.501 HAND BRAKE PUMP BODY FR11, BARE $347.14

3 181.502 PISTON COMPLETE WITH GASKET AND SPRING $19.29

4 181.2909 MAIN PUMP RUBBER SEAL $2.36

5 181.412 SECONDARY PISTON BRAKE PUMP FR14 $3.00

181.5025 GASKET REPAIR KIT FOR HAND BRAKE PUMP FR11 $11.14

6 181.503 PISTON-PUSH  PLATE FOR HAND BRAKE PUMP FR11 $21.43

7 181.504 ALUMINIUM LEVER FOR HAND BRAKE PUMP $69.00

8 181.505 PIN FOR PUMP LEVER $7.50

9 19.0023 SELF-LOCKING  NUT M5 - LOW $0.06

10 181.2908 FLAT WASHER 5MM $0.02

11 19.0085 SOCKET HEAD SCREW TCE 5X20 $0.19

DESCRIPTION

TANK DIAPHRAGM FOR RUNNER FR14 PUMP



REF. ARTICLE CODE PRICE

12 182.12 $0.43

13 181.507 TANK CAP FOR BRAKE PUMP FR11 $20.36

14 181.508 TANK DIAPHRAGM FOR RUNNER FR11 PUMP $9.43

15 19.0012 SCREW TS 4X8 $0.19

16 181.016 SCREW M10X1 FOR BRAKE TUBE FR14 KF-KZ $3.00

17 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

18 181.2906 SCREW PLUG  FOR PUMP BLEEDING $1.50

19 166 FIBER WASHER  10X14X1 $0.17

HYDR. REAR BRAKE CALIPER RUNNER FR08

1 183.8 RUNNER FR08 HYDR. REAR BRAKE CALIPER COMPLETE $336.86

2 183.801 INTERNAL HALF BODY BR./CALIPER RUNNER FR08 - BARE $118.50

3 183.802 EXTERNAL HALF BODY BR./CALIPER RUNNER FR08 - BARE $118.50

4 183.803 INTERNAL HALF BODY BR./CALIPER RUNNER FR08 - COMPLETE $167.57

5 183.804 EXTERNAL HALF BODY BR./CALIPER RUNNER FR08 - COMPL. $167.57

6 183.805 SPACER FOR RUNNER BRAKE PAD FR08 $3.43

7 161 LIP SEAL FOR PISTON 22MM $2.36

8 161.001 LIP SEAL FOR PISTON 19MM $1.93

183.8054 GASKET REPAIR KIT FOR REAR BRAKE CALIPER RUNNER FR08 $15.21

9 183.806 BRAKE CALIPER PISTON 22MM -  RUNNER $6.00

10 183.807 BRAKE CALIPER PISTON 19MM - RUNNER $4.07

11 183.9007 PIN FOR REAR PAD FR08 $2.36

12 21.003 SAFETY PIN $0.43

13 183.826 REAR BRAKE PAD, RUNNER $37.50

14 183.8207 PRESSURE SPRING FOR PAD FIXATION $1.50

15 183.8208 REAR PAD SCREW TUBE $2.36

16 19.0105 SOCKET HEAD SCREW TCE 5X35 $0.32

17 183.8211 FIBER WASHER  4X8 $0.21

18 183.8212 SOCKET HEAD SCREW TCE 4X8 $0.17

19 183.0079 NYLON BRAKE TUBE FITTING, "L" SHAPE $2.79

19 183.008 FITTING FOR COVERED BRAKE TUBE "L" SHAPE $2.79

20 181.2903 SOCKET HEAD SCREW TCE 6X60 $0.73

21 181.2991 SOCKET HEAD SCREW TCE 8X90 $1.71

183.809 REMOV. SUPPORT RUNNER FR08 REAR BRAKE CALIPER - 4 HOLES CASSETTE $40.07

183.8093 REMOV. SUPPORT RUNNER FR08 REAR BRAKE CALIPER - 3 HOLES CASSETTE $40.07

HYDRAULIC REAR BRAKE CALIPER RUNNER FR14

1 183.91 RUNNER FR14 HYDRAULIC REAR BRAKE CALIPER COMPLETE N SYSTEM $423.00

1 183.9101 RUNNER FR14 HYDRAULIC REAR BRAKE CALIPER COMPLETE Q SYSTEM $430.71

2 183.911 INTERNAL HALF BODY BR./CALIPER RUNNER FR14 - BARE $133.93

3 183.9111 EXTERNAL HALF BODY BR./CALIPER RUNNER FR14 - BARE $133.93

4 183.9115 INTERNAL HALF BODY BR./CALIPER RUNNER FR14 - COMPLETE $205.07

5 183.9116 EXTERNAL HALF BODY BR./CALIPER RUNNER FR14 - COMPLETE $205.07

6 183.912 RUBBER SEAL 25mm FOR CALIPER Q SYSTEM FR14-FR11 $3.86

6 183.913 RUBBER SEAL 25mm FOR CALIPER R SYSTEM FR14 $2.14

7 183.9125 RUBBER SEAL 22mm FOR CALIPER Q SYSTEM FR14-FR11 $3.86

7 183.9135 RUBBER SEAL 22mm FOR CALIPER R SYSTEM FR14 $3.21

183.9137 GASKET REPAIR KIT FOR RUNNER REAR BRAKE CALIPER FR14 (Q TYPE) $19.71

183.9138 GASKET REPAIR KIT FOR RUNNER REAR BRAKE CALIPER FR14 (N TYPE) $23.36

8 183.914 BRAKE CALIPER PISTON 25mm RUNNER FR14 $25.71

9 183.9145 BRAKE CALIPER PISTON 22mm RUNNER FR14 $24.00

10 183.9155 SCREW FOR REAR PAD FIXATION FR14 $7.71

11 19.0022 SELF-LOCKING  NUT M4 - LOW $0.13

12 183.916 REAR BRAKE PAD, RUNNER FR14, MEDIUM COMPOUND $42.86

DESCRIPTION

DOWEL  M6X6



REF. ARTICLE CODE PRICE

12 183.9162 $42.86

13 183.917 LOCKING PLUG M10X1 $3.64

14 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

15 181.016 SCREW M10X1 FOR BRAKE TUBE FR14 KF-KZ $3.00

16 183.918 CONICAL BLEEDING SCREW M7 FOR RUNNER FR14-FR11 CALIPER $4.29

17 183.919 LOCKUP O-RING FOR RUNNER BRAKE CALIPER FR14-FR11 $0.26

18 19.0092 SOCKET HEAD SCREW TCE 6X35 $0.41

19 163 SOCKET HEAD SCREW TCE 6X40 $0.34

20 183.9195 REMOV. SUPPORT FOR RUNNER REAR CALIPER FR14 - 4-5 HOLES CASSETTE $40.07

FRONT BRAKE CALIPER RUNNER FR08

1 185.0101 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR08  KZ-125CC $295.93

1 185.011 HYDRAULIC REAR BRAKE CALIPER BABY-MINI FR08 $295.93

2 185.1101 FRONT RUNNER FR08 BRAKE CALIPER BODY - INTERNAL $113.57

3 185.1102 FRONT RUNNER FR08 BRAKE CALIPER BODY - EXTERNAL $113.57

4 185.1013 FRONT BRAKE PAD RUNNER FR08 FOR VENTED BRAKE DISK $37.50

5 185.1003 TCE SCREW 4X25 FOR FRONT PAD FR08 $0.19

6 185.1004 COVER TUBE FOR FRONT PAD FR08 $3.43

7 185.1005 FRONT BRAKE PAD SPRING FR08 $3.86

8 183.8212 SOCKET HEAD SCREW TCE 4X8 $0.17

9 183.8211 FIBER WASHER  4X8 $0.21

10 161 LIP SEAL FOR PISTON 22MM $2.36

185.103 GASKET REPAIR KIT FOR FRONT CALIPER RUNNER FR08 $7.93

11 185.1011 FRONT BRAKE CALIPER PISTON 22MM $5.79

12 185.1112 O RING 5MM $0.43

13 185.1113 SPACER FOR FRONT BRAKE PAD FR08 $3.86

14 185.1114 PIN FOR FRONT BRAKE PAD FR08 $1.93

15 21.003 SAFETY PIN $0.43

16 183.0079 NYLON BRAKE TUBE FITTING, "L" SHAPE $2.79

16 183.008 FITTING FOR COVERED BRAKE TUBE "L" SHAPE $2.79

17 19.009 SOCKET HEAD SCREW TCE 6X25 $0.24

18 19.0089 SOCKET HEAD SCREW TCE 6X20 $0.21

185.1012 FASTENER FOR "T" FITTING $0.86

BRAKE CALIPER KZ-MINIKART RUNNER FR 14

1 186.2 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR14 KZ-125cc, RIGHT, COMPLETE $333.43

2 186.2001 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR14 KZ-125cc, LEFT, COMPLETE $333.21

186.2002 HYDR. REAR BRAKE CALIPER RUNNER-CADET  FR14  (baby-mini-junior) $333.21

3 183.912 RUBBER SEAL 25mm FOR CALIPER Q SYSTEM FR14-FR11 $3.86

3 183.913 RUBBER SEAL 25mm FOR CALIPER R SYSTEM FR14 $2.14

186.2014 GASKET REPAIR KIT FOR RUNNER FR11-FR14 FRONT BRAKE CALIPER Q SYSTEM $10.71

186.2016 GASKET REPAIR KIT FOR RUNNER CADET FR14 REAR BRAKE CALIPER N SYSTEM $7.07

4 183.914 BRAKE CALIPER PISTON 25mm RUNNER FR14 $25.71

5 186.203 SCREW FOR FRONT PAD FIXATION FR14 KZ-125cc $6.00

6 19.0022 SELF-LOCKING  NUT M4 - LOW $0.13

7 186.2035 SAFETY CLIPS FOR FRONT BRAKE PAD $5.36

8 186.204 FRONT BRAKE PAD RUNNER FR14 KZ-125cc - MEDIUM COMPOUND $42.86

8 186.2042 FRONT BRAKE PAD RUNNER FR14 KZ-125cc - SOFT COMPOUND $42.86

8 186.2047 FRONT BRAKE PAD RUNNER FR14 KZ-125cc - SOFT COMPOUND $42.86

186.206 SPACER 3mm FOR FRONT BRAKE PAD KZ FR14 $12.43

9 181.0164 ALUMINIUM GASKET 10X14X1 $0.41

10 181.0166 BLEEDING SCREW M10X1  FOR BRAKE TUBE KF-KZ FR14 $4.29

11 183.918 CONICAL BLEEDING SCREW M7 FOR RUNNER FR14-FR11 CALIPER $4.29

12 183.919 LOCKUP O-RING FOR RUNNER BRAKE CALIPER FR14-FR11 $0.26

13 19.0091 SOCKET HEAD SCREW TCE 6X30 $0.26

DESCRIPTION

REAR BRAKE PAD, RUNNER FR14, SOFT COMPOUND



REF. ARTICLE CODE PRICE

186.3055 REMOV. SUPPORT FOR REAR CALIPER RUNNER FR14 FOR BABY KART $36.86

186.305 REMOV. SUPPORT FOR REAR CALIPER RUNNER FR14 FOR MINI-JUNIOR $82.71

FRONT BRAKE CALIPER KF  RUNNER FR11

1 186.3 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR11 KF, RIGHT, COMPLETE $345.21

2 186.3001 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR11 KF, LEFT, COMPLETE $345.21

3 183.912 RUBBER SEAL 25mm FOR CALIPER Q SYSTEM FR14-FR11 $3.86

186.2014 GASKET REPAIR KIT FOR RUNNER FR11-FR14 FRONT BRAKE CALIPER Q SYSTEM $10.71

4 186.302 PISTON 25mm for RUNNER FR11 FRONT BRAKE CALIPER KF $31.29

6 186.303 SCREW FOR FRONT PAD FIXATION FR11 - KF $5.57

7 19.0022 SELF-LOCKING  NUT M4 - LOW $0.13

8 186.304 FRONT BRAKE PAD RUNNER FR11- KF - MEDIUM COMPOUND $42.86

9 181.0169 ALUMINIUM WASHER 8X12 $0.43

10 181.0168 SCREW M8X1 FOR FRONT BRAKE TUBE RUNNER FR11 - KF $2.79

11 183.918 CONICAL BLEEDING SCREW M7 FOR RUNNER FR14-FR11 CALIPER $4.29

12 183.919 LOCKUP O-RING FOR RUNNER BRAKE CALIPER FR14-FR11 $0.26

13 19.0091 SOCKET HEAD SCREW TCE 6X30 $0.26

14 181.4095 ALUMINIUM SUPPORT FOR FRONT BRAKE CALIPER KF RUNNER FR11 $88.07

15 181.4098 LOCKING PIN 5X10 FOR FRONT CALIPER SUPPORT KF RUNNER FR11 $1.07

16 19.0089 SOCKET HEAD SCREW TCE 6X20 $0.21

FRONT STUB AXLE GROUP KF FR11 - KZ FR14

1 104.004 STUB AXLE LEFT KF-TAG  10.5° - Ø 25mm FR11 -bearings 10mm $151.71

1 104.0046 STUB AXLE LEFT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 10mm $174.43

1 104.0041 STUB AXLE RIGHT KF-TAG  10.5° - Ø 25mm FR11 -bearings 10mm $151.71

1 104.0047 STUB AXLE RIGHT KZ-125cc  10.5° - Ø 25mm FR14 -bearings 10mm $174.43

2 186.3 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR11 KF, RIGHT, COMPLETE $345.21

2 186.3001 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR11 KF, LEFT, COMPLETE $345.21

3 186.2 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR14 KZ-125cc, RIGHT, COMPLETE $333.43

3 186.2001 HYDRAULIC FRONT BRAKE CALIPER RUNNER FR14 KZ-125cc, LEFT, COMPLETE $333.43

4 203.101 FRONT BRAKE DISK HUB, MAGNES., RUNNER KF-KZ COMPLETE $138.21

5 203.102 DRIVING PIN FOR FRONT BRAKE DISK 6X80mm $1.93

6 72.0011 BEARING 25X37mm C4 $4.29

7 112.0016 STUB AXLE SPACER, ALU. BLACK ANOD. 10MM (for stub axle 25mm) $3.86

8 112.0017 STUB AXLE SPACER, ALU. BLACK  ANOD. 5MM (for stub axle 25mm) $3.00

9 113.001 SPACERS WASHER LOCK (for stub axle 25mm) $5.57

10 201.001 FRONT BRAKE DISK 150mm KF FR11 $96.86

11 201.D110 SELF-VENTILATED FRONT BRKE DISK 160mm, KZ-125cc FR14, RIGHT $198.21

11 201.S110 SELF-VENTILATED FRONT BRKE DISK 160mm, KZ-125cc FR14, LEFT $198.21

12 114.005 FRONT WH/BOSS KF-KZ MAGN. L=95X25mm for front brakes FR11-FR14 $138.21

13 114.01 BEARING SPACER FOR FRONT WHEEL BOSS 95X25mm FR11-FR14 $5.57

14 181.4095 ALUMINIUM SUPPORT FOR FRONT BRAKE CALIPER KF RUNNER FR11 $88.07

15 181.4098 LOCKING PIN 5X10 FOR FRONT CALIPER SUPPORT KF RUNNER FR11 $1.07

FRONT STUB AXLE GROUP KZ-125CC RUNNER FR08

1 104.001 STUB AXLE RIGHT KZ-125cc - 17mm FR08 SINGLE-PIECE,  bearings 8mm $189.00

1 104.0011 STUB AXLE LEFT KZ-125cc 17mm FR08 SINGLE PIECE LONG - bearings 8mm $189.00

2 113 SELF-LOCKING  NUT M14X1,5 - LOW $0.99

3 201.D100 RUNNER FR08 SELF-VENTILATED FRONT BRAKE DISK - 150mm RIGHT $165.43

3 201.S100 RUNNER FR08 SELF-VENTILATED FRONT BRAKE DISK - 150mm LEFT $165.43

4 203.011 ADJUSTABLE FRONT DISK CARRIER FOR 150mm DISK RUNNER FR08 $65.36

DESCRIPTION



REF. ARTICLE CODE PRICE

5 203.012 $34.71

6 116.0009 KEY 5x8x40 $1.93

7 19.0102 SOCKET HEAD SCREW TCE 5X14 $0.17

8 72.001 BEARING FOR FRONT WHEEL, 17mm C4 $2.57

9 114.0028 REAR WHEEL BOSS,  ALU. BLACK ANOD. 40X75mm $76.07

10 114.0029 REMOV. NYLON CENTERING RING FOR SHORT WHEEL BOSS $12.00

GEAR LEVER UNIT

1 216.0111 GEAR LEVER COMPLETE $97.71

2 217.0112 GEAR LEVER HANDLE, BLACK $15.43

3 85.002 STEERING WHEEL BOSS, ALU.  ANOD. KZ-125cc $78.86

4 218.0113 CLUTCH LEVER, CHROMED $30.86

5 19.0104 SOCKET HEAD SCREW TCE 6X45 $0.47

6 219.0114 GEAR TIE-ROD 48CM $22.71

6 219.1114 GEAR TIE-ROD 45CM $22.71

7 100 UNIBALL, LEFT $14.14

8 100.001 UNIBALL, RIGHT $14.14

MISCELLANEOUS EQUIPMENT ROTAX DD2

30.002 ANOD. ALU. REMOV. CLAMP 30mm FOR ROTAX DD2 EXHAUST HOLDER $61.29

30.003 ANOD. ALU. REMOV. CLAMP 32mm FOR ROTAX DD2 EXHAUST HOLDER $61.29

300.007 SUPPORT 20mm, SHORT, CURVE FOR ROTAX DD2 EXHAUST $30.86

300.0075 SUPPORT 20mm, LONG, CURVE FOR ROTAX DD2 EXHAUST $31.29

300.008 DD2 EXHAUST SUPPORT KIT $166.07

300.012 DD2 INTAKE FILTER SUPPORT KIT $16.07

129.0001 DD2 FUEL PUMP SUPPORT PLATE $19.50

52.002 DD2 INTAKE FILTER SUPPORT PLATE $9.64

300.013 CABLE STOP BUSH GEAR SHIFT DD2 $10.50

191.0016 DD2 RADIATOR SUPPORT KIT $52.71

191.0021 DD2 UPPER RADIATOR SUPPORT $21.86

191.0031 DD2 LOWER RADIATOR SUPPORT $27.86

MISCELLANEOUS EQUIPMENT KZ

703.0023 SPROCKET 125CC 50MM DIAM. - Z23 ERGAL $82.71

703.0024 SPROCKET 125CC 50MM DIAM. - Z24 ERGAL $82.71

703.0025 SPROCKET 125CC 50MM DIAM. - Z25 ERGAL $82.71

703.0026 SPROCKET 125CC 50MM DIAM. - Z26 ERGAL $82.71

703.0027 SPROCKET 125CC 50MM DIAM. - Z27 ERGAL $82.71

703.0028 SPROCKET 125CC 50MM DIAM. - Z28 ERGAL $82.71

703.0029 SPROCKET 125CC 50MM DIAM. - Z29 ERGAL $82.71

650 DID CHAIN - G&G FOR KZ-125cc per meter $68.57

651 CHAIN LINK FOR KZ-125CC CHAIN $5.14

213.011 CHAIN STRETCHER SUPPORT, ALUMINIUM  KF-KZ $15.43

214.011 SCREW TE 12X60 $1.29

400.12 NUT M12 $0.30

300.0032 ALUM. COMPL. SILENCER SUPPORT KIT 125CC ADJUSTABLE 32MM $239.36

210.0105 FUEL VACUUM PUMP   KZ-125cc $147.00

COOLING SYSTEM UNIT

DESCRIPTION

WHEEL HUB CARRIER 40MM FOR STUB AXLE KF-KZ FR08



REF. ARTICLE CODE PRICE

1 190.0021 $229.71

1 190.0031 NEW LINE RADIATOR RS - KF (only NET price) $0.00

1 190.0033 NEW LINE RADIATOR R - KZ (only NET price) $0.00

2 190.005 RADIATOR CAP $12.64

3 191.002 RADIATOR SUPPORT, UPPER $10.07

4 191.003 RADIATOR SUPPORT, LOWER $28.50

5 191.0015 RADIATOR SUPPORT KIT $74.79

5 191.0016 DD2 RADIATOR SUPPORT KIT $52.71

6 191.004 RUBBER PAMPENER FOR RADIATOR $3.86

7 19.001 ALU. WASHER FOR RADIATOR FIXATION $1.93

8 19.0011 SCREW TS 6X12 $0.17

9 191.005 CLAMP 30MM  FOR RADIATOR SUPPORT $19.29

9 191.0055 CLAMP 32MM  FOR RADIATOR SUPPORT $19.29

10 19.0094 SOCKET HEAD SCREW TCE 8X30 $0.43

11 19.0095 SOCKET HEAD SCREW TCE 8X35 $0.49

12 19.0096 SOCKET HEAD SCREW TCE 8X65 $0.92

13 102 SPECIAL SPACER FOR UNIBALL 13X8X2mm $0.21

14 107.001 FLAT WASHER 8MM - THICKNESS 3MM $0.21

15 19.0024 SELF-LOCKING  NUT M8 - HIGH $1.84

16 32.002 EXTRA SEAT SUPPORT - FLAT 28 CM $13.71

192 WATER PIPE, 80CM LONG $12.86

192.0001 HOSE CLAMP FOR WATER PIPE $1.29

193 WATER PUMP BELT $1.29

194.0001 WATER PUMP $76.71

194.0002 WATER PUMP SUPPORT 30MM $15.43

194.0003 WATER PUMP SUPPORT 32MM $15.43

195 WATER PUMP PULLEY 30MM DIAM. $34.93

195.001 WATER PUMP PULLEY 40MM DIAM. $34.93

195.002 WATER PUMP PULLEY 50MM DIAM. $34.93

251.001 FUEL/OIL RECOVERY TANK WITH CAP $7.50

857 COMPL. COOLING SYSTEM WITH BIG RUNNER RADIATOR $418.93

NUTS AND BOLTS

295 19.0019 NUT M4 $0.04

300 19.002 NUT M5 $0.04

305 168 NUT M6 $0.04

310 101.001 NUT M8 $0.13

315 101.0011 NUT M8 LEFT $0.49

320 19.0021 NUT M10 $0.21

325 400.12 NUT M12 $0.30

330 19.0022 SELF-LOCKING  NUT M4 - LOW $0.13

335 19.0023 SELF-LOCKING  NUT M5 - LOW $0.06

340 184.1605 SELF-LOCKING  NUT M6 - LOW $0.09

345 181.2904 SELF-LOCKING  NUT M6 - HIGH $0.15

350 166.0001 SELF-LOCKING  NUT M8 - LOW $0.15

355 19.0024 SELF-LOCKING  NUT M8 - HIGH $1.84

360 59.001 SELF-LOCKING  NUT M10 - LOW $0.30

365 19.0025 SELF-LOCKING  NUT M10 - HIGH $0.34

370 113 SELF-LOCKING  NUT M14X1,5 - LOW $0.99

375 185.1009 FLAT WASHER 4MM $0.02

380 181.2908 FLAT WASHER 5MM $0.02

385 19.0035 FLAT WASHER 6MM - THICKNESS 1MM $0.45

390 181.2905 FLAT WASHER 6MM $0.04

DESCRIPTION

ALU. BIG SIZE RADIATOR, KF-KZ, STRAIGHT (shining silver)



REF. ARTICLE CODE PRICE

395 19.004 $0.11

397 181.2907 SPRING WASHER 6MM $0.04

400 107 FLAT WASHER 8MM - THICKNESS 1,5MM $0.06

183.8231 SPRING WASHER 8MM $0.06

405 107.001 FLAT WASHER 8MM - THICKNESS 3MM $0.21

410 107.002 FLAT WASHER 8MM - THICKNESS 4,5MM $0.62

415 19.0044 FLAT WASHER 10MM $0.09

420 57.001 FLAT WASHER 10MM - 30MM DIAMETER $0.28

425 183.823 SPRING WASHER 10MM $0.11

435 19.0045 PLASTIC FLARED WASHER 6MM $0.49

435 19.0046 FLARED WASHER, ALUM. 6MM $1.35

435 19.0047 FLARED WASHER, ALUM. 6MM, AN. $3.81

450 19.0049 FLARED WASHER ALUM. 8MM $1.61

450 19.005 FLARED WASHER ALUM. 8MM AN. $4.05

465 57 FLARED WASHER ALUM. 10MM $1.84

465 19.0053 FLARED WASHER ALUM. 10MM, AN. $4.29

478 19.0058 SCREW TE 8X30 $0.45

478 19.0062 SCREW TE 8X35 $0.49

480 19.0059 SCREW TE 8X40 $0.58

480 19.0063 SCREW TE 8X50 $0.64

485 19.007 SCREW TE 8X90 $1.11

490 184.203 SCREW TE 10x85 $1.91

495 19.0071 SCREW TE 10X100 $2.10

500 183.822 SCREW TE 10X110 $3.41

505 19.0072 SCREW TE 10X120 $2.70

510 19.0073 SCREW TE 10X130 $3.19

510 19.0155 SCREW TE 10X140 $4.29

513 19.016 SCREW TE 10X180 $6.75

515 214.011 SCREW TE 12X60 $1.29

516 19.0012 SCREW TS 4X8 $0.19

517 19.0011 SCREW TS 6X12 $0.17

520 19.0074 SCREW TS 6X16 $0.17

520 19.0074 SCREW TS 6X20 $0.28

525 19.0075 SCREW TS 6X25 $0.30

530 19.0076 SCREW TS 6X30 $0.32

535 19.006 SCREW TS 6X35 $0.39

537 19.0061 SCREW TS 6X40 $0.43

540 19.0077 SCREW TS 8X25 $0.49

545 19.0078 SCREW TS 8X40 $0.66

550 19.0079 SCREW TS 8X45 $0.73

555 19.008 SCREW TS 8X50 $0.64

560 19.0081 SCREW TS 10X40 $1.11

565 19.0082 SCREW TS 10X120 $5.70

570 19.0083 SCREW TS 10X130 $8.64

575 19.0084 SCREW TB 6X16 $0.21

575 19.0145 SCREW TB 6X20 $0.32

580 19.015 SCREW TB 8x20 $0.34

585 19.0106 SOCKET HEAD SCREW TCE 4X6 $0.26

590 183.8212 SOCKET HEAD SCREW TCE 4X8 $0.17

595 185.1006 SOCKET HEAD SCREW TCE 5X8 $0.26

600 19.0101 SOCKET HEAD SCREW TCE 5X10 $0.17

605 19.0102 SOCKET HEAD SCREW TCE 5X14 $0.17

DESCRIPTION

FLAT WASHER 6MM, 20 MM DIAM



REF. ARTICLE CODE PRICE

610 19.0085 $0.19

615 19.0086 SOCKET HEAD SCREW TCE 5X22 $0.24

620 19.0087 SOCKET HEAD SCREW TCE 5X25 $0.24

625 19.0088 SOCKET HEAD SCREW TCE 5X30 $0.24

627 19.0105 SOCKET HEAD SCREW TCE 5X35 $0.32

630 19.0103 SOCKET HEAD SCREW TCE 5X40 $0.36

635 19.0089 SOCKET HEAD SCREW TCE 6X20 $0.21

640 19.009 SOCKET HEAD SCREW TCE 6X25 $0.24

645 19.0091 SOCKET HEAD SCREW TCE 6X30 $0.26

650 19.0092 SOCKET HEAD SCREW TCE 6X35 $0.41

655 163 SOCKET HEAD SCREW TCE 6X40 $0.34

660 19.0104 SOCKET HEAD SCREW TCE 6X45 $0.47

665 181.2903 SOCKET HEAD SCREW TCE 6X60 $0.73

670 19.0093 SOCKET HEAD SCREW TCE 6X65 $0.81

672 19.0108 SOCKET HEAD SCREW TCE 8X20 $0.39

675 19.011 SOCKET HEAD SCREW TCE 8X25 $0.39

680 19.0094 SOCKET HEAD SCREW TCE 8X30 $0.43

685 19.0095 SOCKET HEAD SCREW TCE 8X35 $0.49

690 19.012 SOCKET HEAD SCREW TCE 8X40 $0.45

693 19.0121 SOCKET HEAD SCREW TCE 8X45 $0.62

695 19.0096 SOCKET HEAD SCREW TCE 8X65 $0.92

700 19.0097 SOCKET HEAD SCREW TCE 8X70 $1.14

705 19.0098 SOCKET HEAD SCREW TCE 8X75 $1.31

708 181.2991 SOCKET HEAD SCREW TCE 8X90 $1.71

710 19.0099 SOCKET HEAD SCREW TCE 8X130 $2.53

715 35.001 SOCKET HEAD SCREW TCE 10X40 $1.03

720 19.01 SOCKET HEAD SCREW TCE 10X50 $1.35

725 19.013 SOCKET HEAD SCREW TCE 10X65 $1.67

730 19.014 SOCKET HEAD SCREW TCE 10X120 $3.45

19 EXTRA CHARGE FOR SCREW DRILLING…Each $3.06

ACCESSORIES

222 DISMOUNT. KART TROLLEY WITH WHEELS, CHROMED $367.50

223 ADJUSTABLE TYRE DISMOUNTING  DEVICE $137.79

192.0004 PROFESSIONAL  GAUGE FOR TYRE PRESSURE $257.14

224 SET CONVERGENCE  REGULATION DISKS, ALU. $121.93

224.0002 SET CONVERGENCE  - CAMBER REGULATION SNIPER V2 $592.50

113.0005 SOCKET WRENCH FOR SPINDLE RING NUT $46.07

224.001 WRENCH FOR ADJUSTING ECCENTRIC BUSHES -  8 POSITIONS $9.86

224.0011 WRENCH FOR ADJUSTING  ECCENTRIC BUSHES - 16 POSITIONS $15.43

225.001 SEAT MOUNTING DEVICE $163.07

225.0015 LOWER SEAT MOUNTING KIT $95.57

225.002 UPPER SEAT MOUNTING KIT $30.64

225.0025 BENDING TOOL FOR SEAT STAYS $36.86

226 ALFANO PRO V (only NET price) $704.08

226.0005 ALFANO ASTRO LV (only NET price) $1,239.80

226.001 CRONOMETRO  MULTILAP KRONOS (only NET price) $345.92

226.0015 G FORCE "2 AXLES" SENSOR (only NET price) $397.96

226.002 WATER TEMPERATURE  SENSOR (only NET price) $192.86

226.0025 LAMBDA SENSOR (only NET price) $397.96

226.003 VALVE SENSOR (only NET price) $205.10

226.0035 EXTENSION 115CM K TYPE (only NET price) $45.92

DESCRIPTION

SOCKET HEAD SCREW TCE 5X20



REF. ARTICLE CODE PRICE

226.004 $192.86

226.0045 50mm RING FOR SPEED SENSOR (only NET price) $45.92

226.005 IR-USB PC INTERFACE (only NET price) $293.88

248 ACCELERATOR  CABLE - SOFT TYPE $2.79

246 BRAKE-CLUTCH  CABLE $3.43

244 ACCELERATOR  OUTER CABLE $1.93

245 CLUTCH/BRAKE  OUTER CABLE $2.79

248.001 CLAMP FOR ACCELERATOR  CABLE $0.86

248.002 CLAMP FOR CLUTCH/BRAKE  CABLE $1.29

248.0021 2-HOLES CLAMP FOR CLUTCH/BRAKE  CABLE $4.93

251.003 PLASTIC CLAMP 200X4.8 BAG $0.24

251.0035 PLASTIC CLAMP 140X3.6 BAG $0.09

242.002 FUEL PIPE FREE LINE per mt. $7.50

242.0021 FUEL PIPE FREE LINE - 100 MT. ROLL $373.50

250 MEASURING PLASTIC BEAKER 250CC $30.43

250.001 MEASURING PLASTIC BEAKER 500CC $36.00

251 COMPLETE PLASTIC FUNNEL $24.64

251.002 BRAKE BLEED UNIT COMPLETE $110.36

251.0025 PLASTIC TANK FOR BRAKE BLEED UNIT $12.43

234 BRAKE OIL DOT.4 - 1 LT. $19.71

239 CHAIN LUBE SPRAY FIMO $21.43

516.0001 HAASE VINYL STICKER FOR VAN $28.50

517.0001 HAASE SEALING TAPE $6.00

RACEWEAR

500.0003 T-SHIRT HAASE 100% COTTON S-M-L-XL-XXL $27.64

506.0009 COTTON POLO SHIRT WITH HAASE EMBROIDERY $85.71

501.0022 TEAM SHIRT SHORT SLEEVES WITH EMBROIDERY  S-M-L-XL-XXL $150.00

502.0012 HAASE PILE SWEATER WITH ZIPS-M-L-XL-XXL $150.00

503.0016 HAASE BOMBER JACKET COL. SILVER S-M-L-XL-XXL $210.00

504.0013 HAASE RACING SUIT, RED, CIK HOMOLOGATED $682.65

504.0022 DRIVER RAIN OVERALL TRANSPARENT $274.93

509.0014 HAT WITH HAASE EMBROIDERY $21.43

510.0001 HAASE KART COVER $126.86

511.0003 HAASE TRAVEL BIG BAG WITH TROLLEY $133.29

DESCRIPTION

SPEED SENSOR (only NET price)


